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9.5

Row {i(cm)] a(cm) | b(cm) | P (N/m) |Tmin (Nm)| Tmax (Nm)] R1 (N} R2 (N) | C3 (N/m*2) X {m) Ymax (mm) | Theta (degrees)
a 0.2 0.16 0.18] 100000 0 2000] 300f 1700 -1.95 0.11402 -0.0057 1.129
b 0.12 0.02 0.07 50000 -100 600 1563 938 -2.12 0.05711 -0.0029 0.203
c 0.14 0.04 0.12 75000 -200 400] 2571 3429 6.17 0.07143 -0.0111 0.1568
d 0.08 0.04 0.08] 100000 0 2000} 1000] 3000 -0.93 0.04322 -0.0010 0.451
e 0.17 0.06 0.12] 150000 -200 500] 4235| 4765 -15.25 0.08608 -0.0333 0.240
f 0.24 0.16 0.22 75000 1000 2000f 938] 3563 -8.47 0.13441 -0.0292 1.354

NOTE: The values shown above for torsional deflection differ from those of the solution manual because the text uses G = 72 GPa,

while the analysis above uses G = 80.8 GPa since the shaft is steel as per the problem statement.




